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Topic:- General Knowledge and Logical Knowledge

1)

In a family there are: Who among the following are Grandchildren of Sita? / T Y{dX % HeEA Bl
AT gefar e & Rrafaf@a § & o= dar & ardvamaar Jear aaedT 8

T B =a oy owR o ow L . = A R ¥
Harsh (Grard Father) - otta (Frand Hother)

Falul 4 ¥ Samils + ®  Juresh
(Son) {Vided FH bl
| I
I 1 I i
l I |
Fapd Founsl Priva Sarthat OnE Faml

1. Parul, Kapil /W,m

2. Priyanka, Sarthak / ﬁﬂ:ﬁ)—f, rfe
3. Kunal, Sarita / PUIN, Thar

4, Mona, Rahul /Il.bl:ﬂ, JMgd

Correct Answer :-

« Parul, Kapil / UT®d, Hiud

2) When is the Human Rights Day celebrated? / AHaYeR foaw fed T aama smar 82
1. September 1 /RIdeR 1
2. November 10 / TdsR 10

3. December 10 /miﬂ 10

()



4. July 15/ Gﬁllé 15

Correct Answer :-

« December 10 / fTd¥aR 10

3) Vidisha is situated on the banks of river / ﬁ'%fm &g "'lé:f P dc R R %?
1. Ravi /X[

2. Sone / ¥

3. Ken /%

4. Betwa / Saal

Correct Answer :-

« Betwa/dddl

4) According to history, who established Gwalior?/ §ﬁ|3m & SR, oA warferar &t =TT B2
1. Rana Singh /10T R

2. Samrat Ashok / THTC 3N

3. King Vikramaditya / XTSIl [CELIER

4. Suraj Sen / I g

Correct Answer :-
 Suraj Sen /Wﬁlﬁ'

5) If DEMAND is coded DNAMED and SUPPLY is coded YLPPUS, then how is QUANTITY coded? /
Ife DEMAND & DNAMED ¥ TUT SUPPLY & YLPPUS ¥ SIS 54T ST §, @ QUANTITY &I
A Pifed forar SRm?

1. YTITNAUQ
2. YTITANQU
3. YTUTANIQ

4. YTATUYIQ

Correct Answer :-

« YTITNAUQ

©)



6) The Author of the Biography of PM Shri Narendra Modi ‘Modi - Incredible Emergence of a Star” is /
T o g Wi B oftasit, HId-ue IR BT 3ged I & AP &

1. Rajdeep Sardesai RS RGSIE)
2. Tarun Vijay / A= 0T fasrg
3. Rajiv Shrivastav / ISld Siarad

4. Rajat Sharma / Told AT

Correct Answer :-

« Tarun Vijay / a0 fdord

7) The headquarters of the Hindustan Aeronautics Limited is located at / %@H wHifew fafies
T YBIAT FEl (AT S ?

1. Chennai / %Iﬂé
2. Bengaluru / Tla@
3. Dewas / AT

4. Koraput / W
Correct Answer :-

« Bengaluru/ Tla@

8) The total number of Union Territories in Indiais ./ HRd | a0 F5 AT UST |
1.11
2.10
3.12

47

Correct Answer :-

9) The Reserve Bank of India was established in / YR ReTd S &1 RITUAT 9 g3
1. 1949
2. 1947

3. 1927

(4)



4. 1935

Correct Answer :-
e 1935

10) Who is the Principal Economic Advisor in the Union Finance Ministry? / 5 PR & fad vareg

H g7 anfie TaEeR F 7 2

1. Arvind Subramanian / 3RTd~G GHUGH
2. Sanjeev Sanyal / BEIEEIRIS

3. Subramaniam Swamy / JSHUIH @t

4, Raghuram Rajan / XYRTH 7

Correct Answer :-

« Sanjeev Sanyal / BEIEKIRIS

11) Who has been named as the winner of the 2014 Sahitya Academi Award for Sanskrit / &P d %ﬁ"’{

2014 ¥ FIfee SAHIGH PR F faotar & w0 & fd A1fdra fvar man g2
1. Ramji Thakur / ST 3TH

2. Mithila Prasad Tripathi / T orTg FAATaT

3. Prabhu Nath Dwivedi / WYY fgdal

4. Ram Shankar Awasthi / 319 TR SaRt

Correct Answer :-
 Prabhu Nath Dwivedi / U4 fgadt

12) Who constructed the Chaturbhuj Temple of Orchha?/ fa= 3NRST & gy diex &1 fFmfor
PIAMT ?

1. Satpura Kings / HdYST o

2. Bundela Rajputs / Qﬁ?ﬂ NELG
3. King Vikramaditya / XTSI faspaTiae

4. Raja Bhoj / TSI 4TSl

Correct Answer :-

« Bundela Rajputs / g’%ﬁll NSPN
(5)



13) Highest peak in the Vindhya Range is the / fdearae goft & Sft = %
1. Bell Peak / S TSt

2. Mikai Range / &IWI_SC gyuft

3. Cascade Range / %ﬂ% gyoft

4. Goodwill Peak / TSfad @It

Correct Answer :-

« Goodwill Peak / T[Sfae dIct

14) Who is the chief of the Indian Army? / URAT AT & ';I'ﬂ@'ﬁ:f%?
1. Gen Bikram Singh / SR d ﬁ’sﬂrﬁl’a’
2. Gen Dalbir Singh / SRl 3(‘[3'? ﬁl%’

3. Gen Bipin Rawat / ST Xd 191U dd

4. Gen Deepak Kapoor / SI-IRd G2 HYR

Correct Answer :-

« Gen Bipin Rawat / SR a0 X1ad

15) Find the odd one out: /@ﬁ'ﬁm JId H‘ﬂﬁm’:
1. Elephants and Thumpet /a%ﬁ@ﬁm

2. Horses and Neigh /@%@%ﬁ%ﬂ

3. Camels and Roar/wWQa.'EE'E'FIT

4. Dogs and Bark /ﬁ@ Ui

Correct Answer :-

e Camels and Roar/G';‘;J_cfQ?ll'r GolSHl

16) In a certain code language, bey das kat means wise and clever; das som jona means clever young boy;
zup jona oon means young means fresh. Which is the word for boy in that code language? / Tdh WTH CAFH
HTYT ﬁ, bey das kat BT 3 f wise and clever; das som jona T 3 ¥ clever young boy AT zup jona oon PI1

Hﬁyoungmeansfresh?ﬁﬂ%l WWWﬁboy%WWWWWWW%?

1. jona

(6)



2. kat
3. som

4, das

Correct Answer :-

17) If BOARD is coded ERDUG, then how is FKDLU coded? / Tfe BOARD &1 ERDUG A Sited fhaTSITar g,

o FKDLU T F PITST fpar ST
1. OXING
2. GOXIN
3. NIXOG

4. INGOX

Correct Answer :-
e INGOX

18) How many villages from Madhya Pradesh have been included in the Climate Smart Village Project of
the Union Ministry of Environment, Forest & Climate Change? /W q'thUT, q9 Td SIedrg
HATT & FATSHE W1 faoisl Uiiae A A U= & o= g 2ire e e &2

1.50
2.90
3.80

4. 60

Correct Answer :-

19) India's nuclear-capable missile, Agni V was test fired in 2016 from / HIRd G| UIHTI[ H&H mﬁﬁ,
3 v BT 2016 | TT&ror fora T T

1. Munroe Island /'ﬂ:lﬂiﬁq
2. Srirangam Island / W@U
3. Abdul Kalam Island / 3{sgd HalTd gIg

4. Havelock Island /Wiﬁq
(7)



Correct Answer :-

« Abdul Kalam Island / WW@U

20) Consider a group comprising of 4 students: Reena, Beena, Meena and Neena, who stand in a row.
Reena and Beena stand in 6th and 7th positions respectively from the left. Meena and Neena stand in the
4th and Sth positions respectively from the right. When Beena and Meena exchange their positions, then
Beena will be 15th from the left. Originally, Neena's position from the left is: / 4 SET3: 1, =T, W
3R T & T IYg W AR &%, 3 U9 ufe 3 @ST & 1 9971 3R §i91 912 3iR o 9 64 3R 74
R WR @1 5 | FHT 3R 1471 §1% SR & A Y SR Uiad RIF IR el & | 91 TH1 SR Hi=1
3T RITHI B SGerl-agelt HRet 7, dt i1 ard | 15901 i1 a1 3R & T 31y Rufar

1. 16
2. 14
3.13

4.5

Correct Answer :-

21) The probability of Sita, Gita and Mita passing a test is 60 %, 40 % and 20 % respectively. What is
the probability that at Sita and Gita will pass the test and Mita will not? / @Tﬂ, Tfar ik Hiar & U
TRI&T ITT0T §1A DI ARSI HHT: 60%, 40% 3R 20% 7 | 7971 UTRidar ¢ f Har ofik far wfan &
Sitof gt St ofiR wiar Sl =18t g

1. 38.4%
2. 60%
3.4.8%

4.19.2%

Correct Answer :-

22) If 1st June, 2006 is a Tuesday, how many Sundays would be there in the month? / afe -1 2006 4|

Tl ARG $I WIAAR 7, 91 59 T8iH | forae Ifaar g
1.6
2.7
3.5

(8)



4.4

Correct Answer :-

23) Which of the following words are inscribed on the national emblem? / Y1 Udi® W &
H A P A 205 3ifpa g2

1. Satyameva Jayate / TIHT STId
2. Vande Mataram /Ei%ﬂ'l?m:[
3. Jana — gana — mana / SI1-TTU-H-

4, Bharat Mata Ki Jai / HIRd ATl &1 5T

Correct Answer :-

° SatyamevaJayate/?RCIﬁa\_rl'El?f

24) Complete the series choosing the missing number: / T IBAT TAD YT DI GRT DIToIg:
2,8, 3,274,

1.82

2. 64

3.32

4. 48

Correct Answer :-

25) Complete the series choosing the missing number: / T H&IT TAGR YEAT BT GRT DITOIT:
324,108, 36, 12,

1. 16

2.8

3.4

4.2

Correct Answer :-

©)



« 4

26) Complete the series choosing the missing number: / Yol IBAT TAHY AT DI GRT BITOIC:
1,4,9,16,

1.25

2.44

3.23

4.32

Correct Answer :-

27) Select the option that is true about the Statements and Conclusions given:

Statements:
All papers are sheets
All sheets are books

Conclusions:
I. All papers are books
II. All books are papers

/39 fawea &1 99 Fiforg S T T HyHT iR Frewut & o & et &
DY

|t RIS A1 ©

i AR TP §

e

I 9 ST I §

1. T3t e T §

1. neither conclusion I nor conclusion II follows / - gbf fspd 1 3'ﬁ? Cl Ep[ et 11 S{FURTT GG %
2. both conclusion I and II follows / fT&hY 1 3R 11 Tl S{FHURT] A %

3. only conclusion II follows / Had fepy 11 STTHRUT Hdl g

4. only conclusion I follows /Wﬁ'@)‘ﬁh STTUR0T WT%

Correct Answer :-

(10)



« only conclusion I follows / Had Py 1 SR W%

28) Select the option that is true about the Statements and Conclusions given:

Statements:
All pillars are walls
All walls are houses

Conclusions:
I. All houses are pillars
I1. All pillars are houses

/39 fawpeu &1 Iu= FifoTe Sife fou e HyAY i Fwpul & IR & 981 8:
DY

ot @9 $ar §

it flaR W T

e

I 9t IR @ §

IL. 9N @Y RE

1. neither conclusion I nor conclusion II follows / - e"r fAsp 1 3ﬁ? q 7{?[ fAspd 11 S0 B %
2. both conclusion I and II follows / FIsHH T 3iR 1T G SIIXRUI Hd &

3. only conclusion II follows / &ad ey 1T S{THUT HdT %

4. only conclusion I follows / Had ﬁ'@ﬁﬁh IR0 W%

Correct Answer :-

« only conclusion II follows / e FHY 11 STIRVT HRT §

29) Select the option that is true about the Statements and Conclusions given:

Statements:
All paintings are drawings
No drawing is a picture

Conclusions:
I. No painting is a picture
II. No picture is drawing

/39 fapeu &1 Iu+ FIoTE Sife 3w e Y=Y i Aoyl & IR & 981 8:

DY:
(11)



gt ifer s €

ig Wt ST AR TE ©

Ao

1. H1E oft OfdT aedik =Y &

IL. $1$ o TR SET e §

1. neither conclusion I nor conclusion I follows / 7 81 FT5HY 1 3R 7 g} FsBef 11 3178R0I HRd §

2. both conclusion I and II follows / ﬁ'@b_sfl GﬁT I Q\I"I\I SR B %
3. only conclusion II follows / Had ﬁ'@?ﬁf 1T R0 pdl %
4. only conclusion I follows / &Had Frspy 1 S{TERU W%

Correct Answer :-

¢ both conclusion I and II follows / ﬁEb_GfI 3‘ﬁ? I Ei|:i|' S{TRU] A %’

30) Select the option that is true about the Statements and Conclusions given:

Statements:
Some boys are screws
All screws are nuts

Conclusions:
I. Some boys are nuts
II. All nuts are boys

39 fawea &1 I9g9 FIfoE Sife fRE e Fy=T 3k eyl & IR d I8 8:
DY

PO ASH UTE

aftdg e s

e

L. PO ASPH IC g

9N Tcass &

1. neither conclusion I nor conclusion II follows / ¥ B f5HH 1 SR 71 g1 FhY 11 3F¥RUI B §
2. both conclusion I and I follows / FT5HY I 3R 11 GIFT SIT¥RUI HRdl §

3. only conclusion II follows / Fad 5HY 11 STERUT BT §

4. only conclusion I follows / HId F5HY I SFITRVT HRal §

(12)



Correct Answer :-

 only conclusion I follows / Had ﬁ'@?ﬁfl SITARTT WT%

31) Who was the Chairman of the Partition Council? / fdUTs uivug & sreaer 19 472
1. Lord Mountbatten / dle AT3eded

2. Jawaharlal Nehru / SIdTgRdld ﬁ'&RF

3. M.A. Jinnah / TH.T. o1l

4, V.P.Menon / dl.GL.H-1

Correct Answer :-

« Lord Mountbatten / dfe HTSeded

32) Find the odd one out: /Wﬁ'ﬂqmm:
24,33,60,71,51, 15

1.15

2.71

3.33

4. 60

Correct Answer :-

33) ‘Good Governance Day’ is observed on the birthday of Indian’s former prime minister

SR RET URAS @UYHEEA & orAfeaw W Smifora far s 21
1. Lal Bahadur Shastri / 9Tl S8TgR Il
2. Indira Gandhi / Sfc=T el
3. Atal Bihari Vajpayee / 3cd [gR] arergdt

4. Rajiv Gandhi / JToi1d Tl

Correct Answer :-

« Atal Bihari Vajpayee / 3ccl ERECISELI]



34) The Dibang Wildlife Sanctuary is located in the Indian State of / &I g=usilg FUARTY
YR I T fRua g1

1. Jammu & Kashmir /Wﬁ@tﬁ?
2. Sikkim / RifeRpH
3. Arunachal Pradesh / =0T D%QT
4, Odisha / afifgam

Correct Answer :-

« Arunachal Pradesh / =0 e ray]

35) The national park which was declared as a tiger reserve in 1983 is National

Park. / 1983 ¥ ford1 P19 UTs &1 e1s7R Rerd aiftya far war o1, a8 RICR G
1. Panpatha / U-TUTYT

2. Sanjay Dubri / Gold SR

3. Pench / Ud

4, Kanha / PTGl

Correct Answer :-

e Pench/ aif

36) Complete the series choosing the missing letters: / &l &R &R DI gAbY HEF‘IT 3| T ﬁﬁrl'l'{:
PArp__qg__rppp__qqr__r__qrppg__rr

Lprnprap

2.p,9,1p,q,r

3.p,p,Q,qQ, 5T

4P, 50 1Pq

Correct Answer :-

. pl r'ql rl p'q

37) The series given below contains a sequence of numbers. Identify the incorrect combination: Eic] ?ﬁ"’l’ﬁc

a1 H, AT BT UH HH SURYA & | TTad JaIer Ugar-ig:

2,7,22,67,204
(14)



1.7
2. 204
3.2

4.22

Correct Answer :-
o 204

38) The series given below contains a sequence of numbers. Identify the incorrect combination: /i T:ﬁ "T'st
g H, T=Sil o1 U B IURI § | TTad WatelH Ugar=e:

120, 99, 80, 63, 47, 35

1.47

2. 63

3. 80

4. 35

Correct Answer :-

. 47

39) A person eligible to become the president of India should not be less than / HRd &1

PR S T AT &1 591 I | $H T8 g TR
1. 40 Years of age / 40 ITd DI 3Y
2. 35 Years of age/ 35 a1 39
3. 60 Years of age/ 60 1 1 39

4, 50 Years of age /50 ITId &I 39

Correct Answer :-
« 35 Years of age/ 35 9id &I 39

40) In a certain code jose mose kle means posh white carand mose sut feo means black or white
.Which is the word for white in that language? / T% WRI B HIHT H, jose mose kie &1 31 posh
white car AUT mose sut feo 1 AY black or white TIdT g1 5 BIS YT § white & forg fvv 2rsg

BT 3T fopar 14T 82
1. jose

(15)



2. feo
3. mose

4. sut

Correct Answer :-

Topic:- Mental Ability and Mental Aptitude

1) In the sequence shown below, which figure comes next? / @irer {3 °r H# #, IHreIT

H I L N 7

d

Correct Answer :-

In the sequence shown below, which figure comes nexi? | AT B3 9 A &, el

(16)



3 e following two squares shown below overlap, which one of the following optlions

is formed? / &Afe, faF= &) a9 Ffdentug g §, df e F & &ia 91 v ddeT aadr 87

(17)



HJAA‘;'

olals
2.
t4% 40
1
3.
AdTraTas
“
4,

Correct Answer :-

4) Rs. 750 are divided among A, B and C in such a manner that A: B=5:2and B: C=7: 13, What is
A’s share? / 750 SUU BT A, B3R C P SI ST UPR AICT AT F A : B=5:23RB:C=7:1381 A
3! fora FuT frer?

1. Rs. 250 /250 ®4U
2. Rs. 200 /200 ¥4YU
3. Rs. 260 / 260 ¥YU

4. Rs. 350 /350 ¥4

Correct Answer :-

e Rs.350/350 24U

5) How many minutes does a car take to cover a distance of 200 m, if it runs at a speed of 60 kmph? / 60

fodi/Ee ot a1 I 9a 761 TP BR B 200 Fiex &1 g1 a9 B | fora=1 967 T

(18)



6) How many three digit numbers are divisible by 5? / 5 ¥ faurfora 'Eﬁﬁ qrelt 3 3Pl P fpa-t JEY
82

1. 100

2. 180

3.175

4.10

Correct Answer :-

7) Evaluate 743 x 999. / 743 x 999 T I 1= aTIT:
1. 724457
2. 784527
3. 742257

4. 74257

Correct Answer :-

. 742257
(19)



8) The ratio of the present ages of a father and his son is 9 : 4. After five years, the sum of their ages will
be 75 years. What is the present age of the father? / o o’ g GG S{TY BT AJUTd 9:4 HERIGH
TG, ST 3T BT AR 75 T8 ST | e &Y adar= 3y wam 82

1. 45 years / 45 G
2. 40 years / 40 ¥
3. 30 years / 30 CL

4.35 years /35 a4

Correct Answer :-

e 45 years /45 CL

9) 20% of a quantity is Rs. 400, the quantity equals: / Tora TU™ BT 20%, 400 T & SRIE SIT?
1. Rs. 200 / 200 TG

2. Rs. 2000 / 2000 3T

3. Rs. 8000 / 8000 3T

4. Rs. 800 / 800 BT

Correct Answer :-
« Rs. 2000 /2000 ST

10) A certain piece of work can be completed by 12 men in 9 days. After they have worked for six days,
six more men joined them. How many days will it take to complete the remaining work? /12 GHE&ITI)[

TR el S ®1 o =1 § R 5 S 81 5: i &1 a3 & 918 I 1Y 6 3gHT 3R IS o
T | 3@ S RN | fha- faT @i

1.4
)
3.1

4.3

Correct Answer :-

11) A certain sum was divided among A, B and C in the ratio 5: 7 : 6. If B received Rs. 4,500 more than

C, find C's share. / 9{¢ $© FUII &1 A, Baﬁ?cﬁs 7 6%&|§qﬁﬁamaﬁ1%|uﬁ3ﬁcﬁ4soo

(20)



ST T YT Bid 7, df ¢ & fbam 30 A
1. 30,000
2. 25,000
3. 27,000

4. 23,000

Correct Answer :-

12) A is two years older than B who is twice as old as C. If the total of the ages of A, B and C be 27, the
how old is A? / A, B ¥ &I TTd §3T & S C Bt AT BT ESRAT 1 AR A, B 3R ¢ 11 &1 a1 3y 27
T 3 °t A B g fhast 32

1. 12
2. 10
3. 18

4.15

Correct Answer :-

e 12

13) A and B can together finish a work in 30 days. They worked at it for 20 days and then B left. The
remaining work was done by A alone in 20 more days. B alone can do the entire work in / A Gﬁ? B

THATY fhdl T8 B 30 3T & T BT qpd B 1 20 fa7 HTH 1 F 91 B T IS Sar e | AT S
P A TRT 3Pd H1 W 20 foT &1 ifafvad Tva 11 81 B 3/har 39 H1H Fi fvaq oA A @1
ST YTET?

1. 60 days / 60 fe
2. 50 days /.50 f&A
3. 54 days / 54 fa

4. 48 days / 48 faq

Correct Answer :-

« 60 days /60 fa

14) A retailer buys a washing machine marked at Rs. 4,800 and gets two successive discounts of 15%
and 5%. If he spends Rs. 124 on transportation and sells the washing machine at a gain of 13%, then find

1)



the selling price of the machine. /WTJEITWI'\&4800 W({% srmg@ﬁwmmwﬁqﬁ lé% 3R
5% P PP Tl W WGl 21 TR T8 124 U THS URTe U 9 ol & 3R T 13% S oY
TR e © < 91T aRi &1 fawa gou w82

1. Rs. 3520 /3520 SUY
2. Rs. 4520 / 4520 3TY
3. Rs. 5520/ 5520 ST

4. Rs. 2520 /2520 SUY

Correct Answer :-

. Rs. 4520/ 4520 T

15) Speed of a boat in still water is 10 kmph, and speed of the stream is 5 Kmph. In how many minutes
would the boat cover a distance of 5 km downstream? / fRIR 5Tl # T ATd &1 =1 10 fopd. et %, Gﬁ'\"
YRT &1 91a 5 fpei/der 81 urT ot faudta fazn & 5 fadt, 3t g8t g w3 o 19 &t fope) firme
A2

1. 20 minute / 20 ﬁf
2. 30 minute / 30 &[
3. 40 minute / 40 1.

4. 25 minute / 25 .

Correct Answer :-

e 20 minute /20 {8,

16) The age of two persons differ by 2 years. If the sum of their ages is equal to the square root of 144
then find the age of the elder among the two person. / Sl faaal &1 ST BT 3R 2 g9 %l gfe 31
3R BT TR 144 B T-JA P SRR § dl G 8 g a1 Bt AR peril 82

1.2
2.6
3.7

4.10

Correct Answer :-

(22)



The age of A is six times the age of his son. A's father is 40 years older than him. Together, they are 118

years old. What is the age ofA?/AaﬁﬂTﬁwa?gﬁaﬂ'Gﬂgaﬂ@Zﬁ%I Aasﬁ?nﬁengmm
Tt 3if¥e 81 37 TP T 3T 118 T B 1 A B Mg farait 82

1. 18 years / 1839
2. 36 years /36 CL
3. 42 years / 42 CL

4. 76 years / 76 CL

Correct Answer :-

« 36 years/36 ¥

18) The average mark of 50 students is 75. If the marks obtained by one of the student had been written

as 36 instead of 86, then the corrected average of marks is: / 50 ﬁ?rrfﬁ*:ﬁ ® W DI Gﬁ'\‘lﬁ 75 %I Clﬁ'
o faemdf grRT uTw 86 3ihl @ 36 fora faam wig, A 3! o1 Jt Nud 8:

1.51
2.76
3.36

4. 61

Correct Answer :-

. 76

19) A group of 15 people has average age of 45 years. Two persons are excluded and the average of the
remaining is increased by S years. What is the average age of the two persons who have been excluded? /

15 AT & TP TG |, A o1 3iid 3mg 45 99 71 ) saferaal & FHiova oM R 3 5 a9 §¢ o
2| e ard oIl caferral @ 3iaa oy fpamt e

1. 20 years / 20 ¥
2.12.5 years / 12.5 T§
3. 15 years/ 15 ¥

4. 10 years / 10 T

Correct Answer :-

e 12.5years/ 12,508

(23)



In the world cup, Yuvraj has a batting average of 65 in 7 matches till semi-final. How much should
Yuvraj score in the 8" match i.e. the final match to get a batting average of 85?  ay®u ﬁ, '\Q'Fﬁ-m

a7 Tl § GarTel BT Teaarsil SN 65 4T ARSI B 3164 A | faq 37 9911 A1 fob wrg=a
A9 H ITHT 3 85 B W2

1.230
2.215
3.220

4. 225

Correct Answer :-

o 225

21) A train takes 8 sec to cross a 75 metre long platform at a speed of 90 km/h. What is the length of the

train? / 90 frHl/Ee F A1 A 7a I S P 75 Wex T TP Wew™ & IR 1 A 8 V. T4 &1 37
P TS fPasil 32

1. 125 metre / 125 HI.
2. 150 metre / 150 H1.
3. 75 metre / 75 "-:ﬁ

4. 100 metre / 100 Iﬁ

Correct Answer :-
o 125 metre / 125 .

22) Which one of the following four addresses is NOT EXACTLY same as the one given below? / IEr] ﬁ’a ™

IR Udl § A 12 3 1A ud & S g9 S 91 vp A8 22

George Hillier
London Borough of Lewisham
9The Town Hall

Catford, London SE6

(i) George Hillier
London Borough of Lewisham

9The Town Hall
(24)



Catford, London SE6

(ii) George Hillier
London Barough of Lewisham
9The Town Hall

Catford, London SE6

(iii) George Hillier
London Borough of Lewisham
9The Town Hall

Catford, London SE6

(iv) George Hillier

London Borough of Lewisham
9The Town Hall

Catford, London SE6

1.1ii

23) In what ratio must Rs. 50 per kg salt be mixed with Rs. 80 per kg salt to obtain a mixture worth of Rs. 60

per kg. / 50 FUY/[HHT. IT6 THS I 80 TUA/[HUT 910 0 | T rgura § framar =g & fftfa frgror
P P 60 =/ [HI1.3 wTT?

1.1:2
2.2:1
3.1:1

4.3:2

(25)



Correct Answer :-

24) Find the sum of the given series: /a =AY ’lRZﬁ‘IT BTN NIG) ﬁﬁrq;
3+9+27+81+243 +729 +2187 + 6561

1. 9840

2. 9855

3. 7960

4. 8892

Correct Answer :-

« 9840

25) Find the average. 3T fReferd |
62,54,44,36,28 & 22

1.43

2.39

3.40

4. 41

Correct Answer :-
o 41

26) In an examination, 36% of the students failed in English and 40% failed in Hindi. If 20% of the students
failed in both subjects, then the pass percentage is / U TRI&TH 36% foremeff sisht & 8iiv 40% ﬁﬁTQﬁﬁ?ﬂ
H e g1 T afe I fawal # et faemadf 209 & &Y wry g faenfRiay @1 ufo=ma 82

1. 42%
2. 44%
3. 46%

4. 40%

Correct Answer :-

. 44%
(26)



27) The area of a triangle is 150 mZ. The ratio of its base to its height is 3:4. Find the length of its base. / Uh

Ay &1 &Fwd 150 W2 81 3TF ATYR MR HATS BT U 3:4 § | FAB SATYR DI AxaTs gHi:
1. 45 cm / 45 G,
2.30 cm / 30 T,
3.15cm/ 15 9HI.

4,25 cm /25 941,

Correct Answer :-

e 15cm/ 15 9.

28) The series given below contains a sequence of alphabets and numbers. Identify the incorrect

combination: /'_'h%?ﬂ"'rs: mﬁ, GI'&R-'\' ﬁmﬁm@ﬁﬁ%ﬁ%l WWW

igfjku2301ujfkg
iLgfjku2301ujfkg
iii.gfjku2301ugfkg
iv.gfjku2301ujfkg
1. il

2.1v

3.ii

4.1

Correct Answer :-

29) X sells his goods 20% cheaper than Y and 20% dearer than Z. How many % is Z's goods cheaper/dearer
than Y's? / X 301 0T BT Y | 20% T 3R Z A 20% AN ST 21 Z BT I Y b 71 I foa=m agm
3YqT I 82

1.33.33%
2. 50%
3. 40%

4. 42.5%
(27)



Correct Answer :-

¢ 33.33%

30) In 2004, a new shirt costs Rs. 250, while in 2005 it was Rs. 400. Calculate by how much percent has the

cost of the shirt increased from 2004 to 20052 / 2004 ®, T T} T¢ B} HIAT 250 TUY A} S1afF 2005 A g
400 T B Y1 2004 | 2005 F R A B BIva § fora wfazra @) ggiRt g2t

1. 60%
2. 55%
3. 90%

4. 40%

Correct Answer :-

* 60%

Topic:- Science and Simple Arithmetic

1) % of the stamps in Ravi’'s siamp cellection are Indian siamps and the remaining are
foreign stamps. What is ihe raiio of Indian stamps to foreign stamps in Ravi's stamp
collection? / & & TET Farg # — #C T0 § 37T A Fagelt +Ew §1 sl €9 &
TererelT 80 37 &= 3T §72

1.2:5

2.5:7

3.5:2

4.7:5

Correct Answer :-

« 2:5

2)

By what number should we muliiply —i so that the product may be 9—95 TiBH - E

B T T ¥ 0T &Y S I0Tewer — 81 Se?

(=Y
W

(28)
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ui

ul [0

Correct Answer :-

3) A person sells an article for Rs. 550, gaining % of its C.P. Its gain percentage is AR Y
=aftir W aEq 550 & # dacn ¥, B aF $E-Hed W1 —— @ SO G §| S et
EIRE l

1. 5%
2.5.5%
3.55%

4. 10%

Correct Answer :-

« 10%

4) 1f3x + 2y = 12 and xy = 6, then 9x2 + 4y2 = ./ Tf¢ 3x + 2y = 12 AUT xy = 6, T 9x% + 4y =

1. 36
2. 144
3.72

4.52

Correct Answer :-

e 72



5) In a circle, if a chord AB is nearer to the center O than the chord CD, then: / wq&rﬁ, gfe
Sftar CD Ft a1 & Sftar AB 75 O & $ifes Hiave 8, a:

) AB=CD
5 AB =< CD

. AB=CD

4. AB=CD

Correct Answer :-

AB=CD

6) In a temple there are 25 cylindrical pillars. The radius of each pillar is 28cm and height 4m.

The total cost of painting the curved surface area of pillars at the rate of Rs. 8 per m? is: / TP
HiGR # 25 ITAIHR Y & | TS wH $1 71T 28 Y. AUTSHATS 4 1. 81 97 Tl F1 Ui ot
anTa fre gt srafss 9fd 3t arma <. 8 ufa o =t

1. Rs. 1408/ 1408 2.
2. Rs. 1760/ 1760 .
3. Rs. 1480/ 1480%.
4. Rs. 2520/2520%.

Correct Answer :-

« Rs. 140871408 .

7) After 12 years, I shall be 3 times as old as I was 4 years ago. My present age is: I&: 5] 3 12 CL
P T1¢ 39 TG DI 3 T &1 S Rorait 4 adf g oft | 3 aeiam= emg R 8

1. 10 years / 1099
2. 12 years / 1294
3. 13 years / 1399

4. 14 years/ 1499

Correct Answer :-

o 12 years/12 CL



8) Which one of the following expressions is polynomial? =T 8 B a1 S EE'T&CI 22

2% +3x71

9) The smallest number by which 1100 must be multiplied so that the product becomes a perfect
squareis___ ./Gg DICIA DI G@T___ g ORI 1100 Ft 01T {51 ST AT a1feh Th UHIHd
gof &t g e

1.11
2.5
3.2

4.10

Correct Answer :-

« 11
10) What is the probability that a number selected from the numbers 1, 2, 3,....... ,25 is a prime
number, when each of the given numbers is equally likely to be selected? / Tt 1,2,3,....... ,25

H Y T & TG B W I T BT P HTSY BT 814 B fhd-t HHTGAT §, Siafes U o
S T & AT §1F 1 A UG 82

8
1.25

(31)
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Correct Answer :-

11) What is the smallest number by which 3087 must be divided so that the quotient is a perfect
cube? / 98 BIEI A BIEI I Tt T= 8 O 3087 3 fauriora fan wime o/ wrmea gof w1 812

1.3
2.21
3.7

4.9

Correct Answer :-

12) Which method of purification of water does NOT kill germs? / I & ‘{[@T\"UI D P A TSI
Pierufaii #) 8] ARl 3:

1. Boiling / SdIcIHl
2. Filtration / STl

3. Distillation / THd-
4. Chlorination / FARIHIHROT

Correct Answer :-
o Filtration / SI91

13) The most comfortable distance at which one can read with a normal eye is: / 9§ Taifte HﬁﬂT{Uf
R ora R o1 i wmT= STl 9 U Iean g

1.25 cm /25 A
2.20 cm /20 9.
3. 15 cm/ 15 99

4.10 cm /10 9HT.

Correct Answer :-

(32)



e 25cm/259H

14) In anaerobic respiration if yeast is added to fruit juices, the sugar gets converted to which chemical

substancegwﬁ%wﬁﬁmaﬁaﬁ@ﬁ?ﬁaﬁmﬁmmﬁm&—ﬂﬁ?\qmﬁﬁwﬁﬁ
TG AT 82

1. Citric acid / T3¢ TRIg
2. Formic acid / ﬁ%m
3. Lactic acid / dAfe®s Q@[@
4. Alcohol / TebIgIel

Correct Answer :-

o Alcohol / TehIgId

15) The important property of magnet which was exploited by navigators and travelers from the ancient

times is: / TFIP BT a8 HE@YU! 0T FraHT ITANT Afaeh! a1 A gRT urh w1a & forar Srar wen 8,
ﬁﬂ%z

1. Repulsive property / PIRER A qur
2. Induction property / TRUT qur

3. Directional property / [CRIEEL]] 07
4. Attractive property / STHYT T T

Correct Answer :-

 Directional property / fa=m W‘&ﬁ‘IUT

16) During Diwali, crackers are burst outside the building. We hear the sound a bit later after

we see it bursting. This is because: / SIaTel % GRI, TS SHRA & 9Ig< SAM SId &1 3P STa
& Y11 o 91q &9 @i TS ol © Y s wife:

1. Sound wave has same intensity but different frequency / g1 T ! g T gt @ R 3-1'@%[ IRENGI
g

2. Light travels faster than sound / TeTST &8 J A9 T Hd1 §
3. Our ears take longer time to hear the sound / E'Flﬁ' CAGREIT] ﬁ:ﬁ H 31fde I97 od %
4. Sound travels faster than light / €af TBT=T &1 e & it ¥ IR Bl §

Correct Answer :-

« Light travels faster than sound / UPIRI & A AT DRl %
(33)



17) Identify the one that is not a part of live stock. / S| UgA HIToIT ST UL BT YR
EEG]

1. Duck / ¥ad

2. Peacock / AR

3. Cattle /Ila'Qﬁ
4. Fowl / Tt

Correct Answer :-

e Peacock /ﬁN

18) Name the tissue which is not found in animal. / q‘%l&ﬁ T 9 IR 9 91 SHde BT ATH
CGIELY

1. Adipose tissue / T SHa®
2. Meristematic tissue / fTAHSAIAP SHdd

3. Dendrite / m&éﬂq

4. Connective tissue / Wﬁﬁ $Hdd

Correct Answer :-

« Meristematic tissue / [AHSAIAD SHddb

19) Choose the correct units of time in ascending order. / 3RIg! HH A JHY P gl SHISUI BT

T Piferg]

1. Second, day, year, month, minutes, hour / @W, ﬁ:[, aﬁ, qﬁ:ﬂ, ﬁF‘E, HeT

2. Second, hour, year, month, minutes, day / SbUS, TeT, a8, HeIHT, fide, faq

3. Second, minutes, hour, day, month, year / WUE’, ﬁ-l:if, YdT, ﬁ:f, II@"—IT, g
4. Second, day, month, year, minutes, hour / @WS’, ﬁ‘[, ﬂ‘sﬁ:ﬂ, Hﬂf, ﬁl:l'c’, |

Correct Answer :-

« Second, minutes, hour, day, month, year / WUS’, e, der, fad, g8, Ty

20) Cholera is caused by: / 8% 39% HRUI §idT1 &

1. Fungi / hddh

(34)



2. Protozoa / UTCTGI3T

3. Viruses / dlIRY
4. Bacteria / Gﬂ?ﬂq

Correct Answer :-

» Bacteria / Gﬁa'l'f{l

21) When sodium reacts with chlorine, sodium chloride is formed; the heat is in the reaction. /

9 Aifean w8 & 91y Afifrar sear g, 9 Sifead wRigs &1 i giar g, siffsear & Sor
|

1. not exchanged / fafHT 781 gl g
2. decomposed / &Wﬁﬁa?ﬁ%

3. evolved / AP RIA g1 8

4. absorbed / S(TRNTT Bl &

Correct Answer :-

« cvolved / famfd fh?'ﬁ %

22) What is the feed of broiler chickens? / TSR I BT HIUT T &2

1. Protein rich with adequate quantity of fat and sufficient carbohydrates with vitamin rich supplement / IECIERES]

R RS & 1Y Tdied 7B § 991 9 T Plaigiegel ° HRUR UieH

2. High quantity of mixed food grains / [EERCICIEEIREE el
3. Usually protein and fat laden components / SIS Td a1 RN gUYCh

4. Vitamin rich supplementary food / ICHIERES] RR RS o

Correct Answer :-

» Protein rich with adequate quantity of fat and sufficient carbohydrates with vitamin rich supplement / IEEIERE:

TRUR GRS & T AT AR § 991 U9 U SreigRgel ¥ HRER Ui

23) Write the name of reptile with four chambered heart. / IR Piae ®ad G| '\‘lﬂ'\‘[q BT A |
1. Varanus / 33T

2. Lizard / fUba!

3. Chameleon / TRITE

4, Crocodile / HIIRHTS
(35)



Correct Answer :-

¢ Crocodile / HIRHTS

24) Heart, arteries and veins work together. It is an example of which level of organisation? / §G4, eI
TYT FRRTE T A1 BT FRd 1 T8 WIS & 5 WR BT 3GT6T0T 82

1. Tissue / \HdPh
2. Organ system / 3T U]

3. Cell / BIRABT

4. Organ / 3

Correct Answer :-

« Organ system / 3T JoTet

25) AIDS cannot be transmitted by ALY | ® aRT Taid qﬁfﬁ Hhdrl
1. sexual contact / QiRT TUH

2. hugs / T ST

3. breast feeding / ¥ 3GR

4. blood transfusion / YT

Correct Answer :-
¢ hugs / Tl TRTH

26) The microorganism that acts as the fermenting agent in the conversion of sugar into

alcohol is: / G&HSIG St SR & Teblgia § TRad § THR FUS $t ag BT HT 8¢
1. Lactobacillus / daeiaRras

2. Rhizobium / rgeifeas

3. Yeast / WHR

4. Penicillium / U

Correct Answer :-

o Yeast/W@HR

(36)



ABCD is a rectangle. Its diagonals meet at 0. If OA = 2x + 4 and OD = 3x + 1, then x is: / Tdh 3T™Ad

ABCD g1 59% fawul, O R f@d 819/ OA =2x + 4 3R OD = 3x + 1, A x FTAF AT 3:
1.-1
2.-2
3.2

4.1

Correct Answer :-

« 1

28) Raj borrowed Rs. 5000 at 10% per annum on simple interest and lent the same amount at 15%
per annum on compound interest. At the end of 2 years, he would: / I A 10% TP JTYRT AT
TR 5000 . BT BT fordr 3R I UFRTR BY 15% TS Thgfes a1 U 30 e &1 ¢ feam 2 af
& 91g 34

1. Gain Rs. 612.50/ 612.50 5. 1 & BRI
2. Gain Rs. 621.50/ 621.50 . ST @AY I
3. Loss Rs. 612.50/612.50 %. &1 g1 gl
4. Loss Rs. 621.50/621.50 %. &1 g1 gFft

Correct Answer :-

« Gain Rs. 612.50/612.50 3. &1 &Y BT

[+ [+ .
29) n the given figure, AB | CD, ABO = 100 , and “0CD = 110, then “BOC = __. / Ruwmufm#,
fes ; G
a8 | cp, “ABO = 100, 74T “0CD = 110, dt “BOC =

A kS B
Il .

O=:’.f_:__

1. 80

2. 60

3.70

4.30

(37)



Correct Answer :-

[+]

« 30

30) If the area of a square is 16cm?2, then the area of the square joining the mid-points of the sides
is: / 9fc TP o BT 5P 16 ¥ QY. B, O ¥ o1 Yoreii F wea figaen & sisH ardl @i I
ffta ot @1 garwa =1 gim:

1. 32 cm? / 32 o .
2. 8 cm? / 8 a7 T,
3.4 cm? /4 I G,
4,16 cm? / 16 T I,

Correct Answer :-

« 8cm? /89t IH.

(38)



